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1. Find orthogonal trajectories of the following curves. (357 - E#¥ 5 5B
C BT EBBEEFR T L) e

y=cx
(15%)
2. Solve the following initial value problem. (3t %8 - a3 7|t Ei8f2 - £ E
BREERTFHL) -
y'+9y=15¢",  y(0)=6, y'(0)=-2
(15%)

3. Solve the following problem by Laplace transform. (¢t B %8 » 353 7|+ B84 >
gt EBARERTHS) -

V' +y' =2y =30u(t - r)cost, y(0)=1, 1'(0)=~1
(20%)
4.  Find the Taylor series with center z, and its radius of convergence. (3% %8 -

Tl RasE ) B EBRATTHS) -

(15%)
5. Find the corresponding Fourier series of the following periodic function. (?:1-,’%'.
o EHIEAE At EERER ) -

f)=x", -l<x<l, [f(x+2)=f(x)
(15%)

6. Let u=[z x y], v=[y+z z+x x+y], f=x+y-z,and g=xz.

Find the given expressions. (3t B8 » FH# 5|3t L4 > BI FBEELE R FH
) -

a.  V(fg) b. V-(uxv)

c. Vx(gu) d. V(V(&))
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